Answers to Ch 3 Review

1.  
Data Set A:
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  r = .82

Data Set B:
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  r = .816

Data Set C:
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  r = .82

2.  Notice that all the LSRL and correlations are virtually the same, however, the scatterplots are VERY different.  This is why you MUST graph your data.  For data sets B and C, the LSRL and r do not make much sense…one graph is curved and the other is vertical except for on extreme point that heavily influences the LSRL…an influential point.  So the only one that really has a line as an appropriate model is Data set A.

3.  In data set C, (19, 12.5) is an outlier and influential point.

4.  In Data Set A, I would be willing to use my line to predict for x = 14.  I would get 
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5.  
a)  There is a fairly strong, positive linear relationship between X and Y. (number of laughs and time)

b)  Slope:  On average, when time increases by one minute, the number of laughs increases by about .509

y-int:  When the time is 0. the number of  laughs would be about 2.96.

c)  Predicted value for x = 11 is:
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Residual for x = 9 is:
8.81 – 7.546 = 1.264
d)  Since r = .82 is fairly close to 1, there is a fairly strong, positive, linear relationship between time and number of laughs.
e)  About 67% of the variation in number of laughs can be explained by the least squares regression of number of laughs on time

f) Since the scatterplot of number of laughs on time is fairly linear, there should be NO curved pattern in the residual plot.
6.  No they are not resistant because they are affected by outliers. (Draw a picture of this to demonstrate)
7.  Looks at your notes about this.
8.  A scatterplot can reveal direction, form, strength, clusters, gaps and outliers.

9.  
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10.  The data used to create the residual plot on the left is NOT linear because the residual plot shows a curved pattern.  The data used to create the residual plot on the right IS linear since the residual plot shows NO curved pattern.

11.  B

12.  
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13.  C

14.  D  (In the problem, it gives you r = .8…but the question is asking for the % of variation…which is 
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15.  A
16.  A.  Correlation is NOT affected if you change the units and it IS affected by extreme values…so I is right and III is wrong.  Eliminate answers from there.  If you are not sure about II…make up some data in your calculator.  Put 4 numbers in list 1 and 4 numbers in list 2.  Find the correlation for L1, L2 and then for L2, L1 and see if it changes.
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